=2x+4

@ x?

@D 2x-—2=3+2x

3x—6

® 3(x-2)




2. H=A4F LAAEAd A2

® 3x+6-3x @ x> +1=-x
® 2x-1=3(x-1)-x @x+x2+3:x2

® x+x2+1=x

B

@6
@P+x+1=0
®2=0
@®x+3=0
®x*+1=0




—x-0.75x = G o] WrA S EH?
@ 5 @ 4 ® 3 @)2 ®1
LI Sl
6
13 -7
2" 1T 6

oFHo] 12 & H5HH
6x—9x =4x—- 14
—Tx=-14

S =2




sfj7F

S ax-2=x+b0°]

4.

-2

@ a=-1,b

Da=1b=2

@D a=-1,b=2

@azl,b:—Q

®a=2b=-2




o SAolA BE W e o]’ e 12w

2x +4 = 10~4x
@2x+4x:10—4 @ 2x-4x=10+4
® 2x+4x=10+4 @ 2x+4x=-10-4

® 2x-4x=10-4

2x + 4x = 10 — 4 o|th,




ol W

[SUNIN

ol 4 E FotH
3t+2=9r-8
-6t = —10




(x—2):4=(2x-3):3
4(2x-3) = 3(x-2)
8x—-12=3x-6

5x =6

6
Fo F= =
5




o5 QA4 F I s v e o e a2

® 3(x-1)=9 @ 2x+7=15
xX+7 1 9
@1 = @ S(tT)-g =1

® 02(5x-7) =26

~&B

®3(x-1)=9
3x—3=9
3x=12 . x=4

@ 2x+7=15
2x=8 .. x=4

x—2=2 .. x=4

® 0.2(5x = 7) = 2.6 (FH 10 & FotH)
2(5x—7) =26

10x — 14 = 26

10x = 26 + 14

10x=40 - x=4




